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sleyenrast : (1)
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Check the question paper for fairness of printing, If there is any lack of

Instructions : (1)
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and undetline and pencil to draw diagrams.

u@d - 1/PART -1

@iy : QsrRssuULBeTen wrpg eloLsaiid Weab oL eflenLenwd
CaipQs0555 GOUILHLE aflenuleanyid Caiggl er(psSayL. 15x1=15
Note : Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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@G wrdflwurer wiCs werymEsmer QawpsapeldE DAgldenTa sflwmen
MoLrows smbd Qewuphsay, reuaUT Bep&sLLEL ?

(=) Pure ngﬁ)&ml (<) Impure GEwpHam)

(@) Partial Q&u.ubahgj (/) Dynamic Qewnaay

The function which will give exact result when same arguments are passed are
called :

(@) Pure functions (b) Impure functions
() Partial functions (d) Dynamic functions

wrpp Qeiw wgwrs Aurpeliar Qgrt auflens :

(1) Derived Data (<) Built in
(@) List () Tuple
A sequence of immutable objects is called :

(@) - Derived data (b) Builtin
(c) |List (d) Tuple

b Qe pellar e puLsmer Qardpeler o erGar L (HLDSTE EmEWTeT
Pl ? |

(<) Public 2 myliLjger (<y,) Private 2 mliyger

(@) Protected 2 mUL|&eT (rF) Secured 2 Ui &eT

Which of the following members of a class can be handled only from within the class ?
(@) Public members (b) Private members

(c) Protected members (d) Secured members

Qpdlapepuier Qeuddpaman eareilL @rand &l Sarai(aer crael ?
(=) s7ey HYLD GLLb (<) Gewed whmid Hlerareusid

(@) Aésed wpmb Osrerararey () Goybd wHmID GL1b

Two main measures for the efficiency of an algorithm are :

(a) Data and space (b) Processor and memory

(c) Complexity and capacity (d) Time and space
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IDLE -&r afifley :
<) Integrated Design Learning Environment

<) Insert Development Learning Environment

og

(
(
( @) Integrated Develop Learning Environment
(

) Integrated Development Learning Environment
Expand IDLE :

(@) Integrated Design Learning Environment

(b)  Insert Development Learning Environment

(c) Integrated Develop Learning Environment

(

d) Integrated Development Learning Environment

Gl6treu(mLD Gl perpuien Qeuafui() eremem ?

for i in range(2,10,2):

print(i,end="")

(=1)8642 ()2 4 6810

(&) 2468 () 246

What is the output of the following snippet ?

for i in range(2,10,2):

print(i,end="")

@@ 8642 b) 246810
() 2468 d 246

Qénaumid Qswpampan wHISH Qg s Gaali oL awss.
x=14.4

print(math.floor(x))

(=1) 13 (<) 14 ' (@) 15 () 14.3
Evaluate the following function and write the output.

x=14.4

print(math.floor(x))

(a) 13 (b) 14 (c) 15 (d) 143
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10.

11.

Waramd @fymésrear Qaield@ wirg) ?
str="NEW DELHI”

str[3]="-"

(1) NEW-DELHI (<) NE-DELHI
(@) NEW DELHI () NEW-ELHI
What will be the output of the following code ?
str="NEW DELHI"

Str[3]=ll-ll
(a) NEW-DELHI (b) NE-DELHI
() NEW DELHI (d) NEW-ELHI

euggren Dictionary - flneyCararger erganme @g‘)]ul.ﬁ]l_uu@eﬂdﬁg)m.

(1) ; (=) = (@) :
The keys in Python dictionary is specified by :
(@ ®) = ()

QensE emliyse by Qeungdluden apad egmstiLbGEDS ?

() - () & (&) %
Class members are accessed through which operator ?
(@ - b) & (© %

SELECT sapmié@ Lwenu(hib Slened erg) ?

(1) Q () (&) =
What symbol is used for SELECT statement ?
(@) (b) o (€
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14.

15.
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SiLLeuamanmerw B&s Lwatu(HEs Geuanriq SLULener :

(<) DROP (<2,) ALTER TABLE
(@) DELETE () DELETE ALL
The command to delete a table is ;

(a) DROP () ALTER TABLE
() DELETE (d) DELETE ALL

CSV Gamiumeng 19emeumeuaneupmer crasaunm Siepdsul(pererg) ?

(1) Random File (<24,) String File
(&) 3D File () FlatFile
A CSV file is also known as a :

(a) Random File (b) String File
(c) 3DFile (d) FlatFile

euggTe HmID CH Blyosemer Qe sl ESuUSHSTE L el :

(=) Ctypes . (<) Boost (@) SWIG (/) Cython
A framework for interfacing Python and C++ is :

(a) Ctypes (b) Boost (c) SWIG (d) Cython

19émeumeuaTeupled 6T @EIHmamssILILL geysaflen QgrEIUTED ?

(21) ublayser (<) BHOI

(@) DBMS () reypsend
Which of the following is an organized collection of data ?
(a) Records (b) Information
(c) DBMS (d) Database

[ §lmriys/Tumn over
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U@ - 11 / PART - II

Py : aCsmid Syou Aenrss@rée od@waésea. elam T 24 -5E
SLLMUNE eflenLweflsseylb, 6x2=12

Note:  Answer any six questions. Question No. 24 is compulsory.
16. Pair ererpred erenen ? rOSFHSET( 5(ms.

What is a Pair ? Give an example.

17. Namespaces i) GOy euenys.

What do you mean by Namespaces ?

18. Qpdpenp eremmmed eremen ?
What is an Algorithm ?

19. range() QMM GOLY euenrs.

Write note on range() in loop.

20. SQL sl Learsaflar Qurglidfleyseer erpgs.

Write categories of SQL commands.

21. edfleurdsd ms : (i) SWIG (i) MinGW
Write the expansion of : (i) SWIG (i) MinGW

22. yesens “INTEGER PRIMARY KEY” erew SiMedILILIG6N Betrento erediar ?
What is the advantage of declaring a column as “INTEGER PRIMARY KEY” ?

23. grey sMLALLDSSSD cuamsel UL ig el (s,

List the general types of data visualization.
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7

&Gy Qar@éstiugQedrer ®usgrer frelan Qeushui® wrg 7
str="COMPUTER SCIENCE”

(<t) print(str+2) (<) print(str[0 : 7))
What will be the output of the given Python program ?
str="COMPUTER SCIENCE"

(@)  print(str*2) (b)  print(str[0 : 7))

UGS - III / PART - III
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©Hloy DIEET S eflanrésEnsE e welssayh. elarm eram 33 &G

Note :

25.

26.

27.

28.

29,

G (NYWTH] F: eflen_wiafl&asay .

Answer any six questions. Question No. 33 is compulsory
pure WHMID impure Qewnampenn Caunupsss.
Differentiate pure and impure function.

Asymptotic GHluI® - Gilliy cueys.

Write a note on Asymptotic notation.

W dewhEhHew aOE5EST[HLen TGS,

Explain Ternary operator with example.

s0&PDS ereveurn Qawudu@GHps) ?

How recursive function works ?

Geraumd @Hpepuler QeuelSH eremer ?
list=[3**x for x in range(5)]

print(list)

What will be the output of the following code ?
list=[3**x for x in range(5)]

print(list)

6x3=18

[ &miiys/ Turn over
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30.

33.

QAL - edar TCL alLevarsevar upil i @Hlly euenrs.

Write short notes on TCL commands in SQL.

reader() whmd DictReader() Qawpaapidlen Ceugur@® eremen ?

What is the difference between reader() and DictReader() function ?

fetchone() wpmw fetchmany() CeumuBEss.

Mention the difference between fetchone() and fetchmany().

Weneunid Hlyefen Qeuefui® eremen ?
class Hosting:
def__init__(self,name):
self.__name=name
def display(self):
print(“Welcome to”,self.__name)
obj=Hosting(“Python Programming”)

obj.display()

Write the output of the following program.
class Hosting:
def__init__(self,name):
self.__name=name
def display(self):
print(“Welcome to”,self.__name)

obj=Hosting(“Python Programming”)
obj.display()
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8 (@55 LD eflenL_wefésayLd. 5x5=25
Answer aJ| the questions,
34 (=)

uflasiramp G Opdpepou a@ssssm GLar efeundléseyLb.
S|Vevg)
Qewpammaeer er@issam Qe efleufl&aayL.
arch algorithm with example.
OR
) and print() functions with example.

(<) input() wpmis print()
(@) Discuss about Linear Se

(b) Explam input(

35. (<) @) DS e @evés Gl oL ILenL eraimaenar Qeveflul Geugmaen

Birene TS5
@ Qereugpid Hreis@ Qeuafuse (PGS,
i=1
while(i<=6):
for j in range(1, ):
print(j, end="\t')
print(end="\n’")
i+=1
AN
() Qereupid 2 ereflananisg Cewpsmmsemer elaréss.
@) id) (i) chr() (i)  round()
(V)  type() (v)  pow()
()  Write a program to display all 3 digit even numbers.
(i) ~ Write the output for the following program.
i=1
while(i<=6):
for j in range(1,i):
print(j,end="\t)
print(end="\n")
i+=1

(a)

OR
plain the following built-in functions :
0 E;‘P liI:1() o (i) chr() (iii) ~ roundy()
(tv) type() (v) pow()

[ $l®LLys/ Turn over
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36.

37.

- "1RY;

10

(<) Adreumid @uGSTET 8L earmaien GleuafluienL er(pgis.
stri="Welcome to Python"
(i) print(stel)

()  print(str1[11 : 17])

(iif)  print(str1[11 : 17 : 2])

(iv)  print(str1[: : 4])

(V)  print(strl]: : —4])
LNV
() wugsraled <pé&d wHMD SPh9semer ereueury euenFwmLILITL ?
THdgEsT_HLen efeulGseylb.
(@) Write the output for the following Python commandé :
str1="Welcome to Python"
() print(strl)
(i) print(strl[11 : 17])
(iii) print(str1[11 : 17 : 2])
(iv) print(strl[: : 4])
(v) print(strl]: : —4])
OR

(b) How to define constructor and destructor in Python ? Explain with example.

(1) ougsrafigierer LOCGaumy set Qsweur@smer Qurmsswrar
T(H&GIESTL(H&(@HL6 6lleTsEs.
3|66
(<) DBMS wipmitb RDBMS CeumiLi(hés.
(@) Explain the different set operations supported by Python with suitable example.
OR
(b) Differentiate DBMS and RDBMS.
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(<4) Umﬂlunrmr'r&@é;@ TCseub @bg LOmEmaTs Caram i D)L LGUenamT
S MAUTES @ SQL spdenar erpd, b Lemflumer oL LalnarsE
R SILLauimear sLQUUIL L 2 (HeuréseLb.
{60605
() C++ g euggren uamysammsemer LD 6T(HEIS.

(a) Write a SQL statement to create a table for employee having any five fields and
Create a table constraint for the employee table.

OR
(b) Write the features of Python over C++.
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